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Actually you dor’t need +o remember all of them
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EK&MP\C * Problem 5. Consider the function f(z) = on the domain [-2,—1) U (—1,2]. You

may freely use any of the following facts.
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[2.-006,2] i) f7(2) =
S

i) f(1.38) = 0.6

(x +1.84)(1.38 — z) K (x)
z+1

, where K(z) >0 iv) f(—1.84) = —0.93

a) Study the sign of f'(z). Determine the intervals where f is increasing, and the intervals
where it is decreasing. Indicate the values of the local extrema, if any. You must justify
your findings.
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b) Study the sign of f”(x). Determine the intervals where f is concave up, and the
intervals where it is concave down. List the inflection points, if any. You must justify
your findings.
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c) Investigate for the existence of vertical /horizontal asymptotes. Your findings must be
supported by the careful calculation of relevant limits. (Each vertical asymptote must
be supported by two limits.)
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d) Based on all the information gathered in the previous questions, sketch the graph of f
as accurately as possible. Include and clearly label all relevant points and asymptotes.
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Mean Value Theorem Ago;m.



Mecm Va.\lLQ. Theorem Aaain. Applg mean volue theorem 0 prove inequalifies.



Mecm Vo.\u.e Theorem Ago;m, Applﬂ mean volue theorem 0 prove inequalities

EXQMP\e . Problem 7. One wants to calculate the value of the limit
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a) Show that v/5x + 64 < 4 + @x for all x > 0. You must justify your methods.
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Riemann Sum  Again



Riem(l‘\n Sum AgQ.iﬂ Write doun the definte integral o Riemann sum represent.



Riemann Sum Aqai
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